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QUESTION 1

Which three applications originate a buy request that is received by supply chain orchestration? 

A. Planning 

B. Inventory 

C. Accounts Payable 

D. Order Management 

E. Self Service Procurement 

F. Purchasing 

Correct Answer: ABD 

 

QUESTION 2

Your customer has received 50 boxes of item A (priced at $10 per box) and these items are transferred to the asset
Inventory organization. There are no additional quantities in any of the inventory organizations apart from the received
50 boxes. After running all the necessary cost accounting and organizations apart from the received 50 boxes. After
running all the necessary cost accounting and receipt accounting processes successfully, the item validation for item A
is still zero. What is the reason? 

A. Items are consigned and ownership is transferred to "owned". 

B. Items are consigned items and ownership lies with the supplier. 

C. Items are not consigned items but ownership is still with the supplier. 

D. Items are not consigned items and ownership is with the organization. 

Correct Answer: B 

 

QUESTION 3

You are in the process of analyzing the demand and supply schedules for the item based on high level 

reservations. 

Identify the reservation document type that would be applicable to both supply as well as demand. 

A. Movement Request 

B. Transfer Order 

C. Requisition 

D. Account Alias 
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E. Work Order 

F. On Hand 

Correct Answer: B 

 

QUESTION 4

A customer has one Business Unit, two Legal Entities, and each have eight warehouses (defined as Inventory Orgs).
While trying to set up Cost Organizations for each of these Legal Entities, you were unable to perform the mandatory
step of assigning the Profit Center Business Unit for one set of eight Inventory Organizations; however, you could do it
for the other set. What is the reason for this? 

A. There is no Inventory Validation Organization defined. 

B. There is no Business Unit associated with the Legal Entity. 

C. The General Ledger is not associated with Business Unit. 

D. The Business Unit is not enabled for Costing. 

E. The Legal Entity Setup is incomplete. 

Correct Answer: B 

 

QUESTION 5

What three Key Performance Indicators are available in the Warehouse Operations Dashboard? 

A. Cycle Count 

B. Distributed Value 

C. Hit or Miss Accuracy 

D. Shipment Value 

E. Inventory Value 

F. Exact Matches Rate 

Correct Answer: CEF 
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